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OESuFA 535,000,000 467,000,000 68,000,000
311-02 EE WA 4,272,560 0 4,272,560
[ L83 ] 4,272,560 0 4,272,560
<olatgEaa > 300,000 0 300,000
020128 XYMWE I EI AHEIE(4EEE uX=E
Ha) 300,000 0 300,000
< AXHFE > 79,000 0 79,000
OMeZUH DIZ2FAMA 2SAL(LZSH) 79,000 0 79,000
< 2SN L > 187,500 0 187,500
OXXEH SSHEHEALE 2et25 187,500 0 187,500
< Sokh > 50,000 0 50,000
OZRUERAUL YAX B (HSH) 50,000 0 50,000
< Hsat s > 2,616,070 0 2,616,070
O3zg tHdl X2 2,616,070 0 2,616,070
< EZZWNSH > 1,000,000 0 1,000,000
OXNEAH HEEAN 24 1,000,000 0 1,000,000
< MHeHrekeia > 39,990 0 39,990
O2=0| HEAIE dXI(HE8d) 39,990 0 39,990
311-03 22 W2 Al 51,411,245 50,000,000 1,411,245
[ 2833 ] 51,411,245 50,000,000 1,411,245
<Ot EMAY > 768,250 547,476 220,774
OdelsEdigy X& 597,050 371,517 225,533
OWd==2tI I SHA K& 30,988 31,747 AT59
OWdEHEE? 0 4,000 24,000
<gXltelIME D > 3,545 12,299 N8B,754
OS32=2AME 3,545 12,299 A8,754
< MEPAtE D > 33,210 45,510 A 12,300
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